MITSUMI

2 AD2HAEFH#ZXLyF MM1120

2AT2HAET ARy F
Monolithic IC MM1120

’04.11.24

BE

ARICIZ. 2ADI2H BB O F A 55/ 4+ —F 1+ AEFU VB2 HELREE FF A4 v F T3, TV/BSH)

D2 HCHRE T,

(1) EFF G5 H1mE, +—70 4155 200 #
(2) 75Q K54 23110] # Pk

(3) & Ei
(4) BIHEE
(5) JEP B
(6) Zuzp—7

17mA typ. (Vce=12V)
8~13V

Y455 Al 60dB (at 4.43MHz)
F—74 F A5 5 Il 80dB (at 1kHz)

INYIr—3o

10MHz (Vourl), 7MHz (Vout2)

SSOP-16A (MM1120XF)

iibed

(1) BSWETV

J0OvIX

VinZz @) L 1 Vec
SW1 @ g 3 N ©® Vour?Z
L H
VNl Q% | S L ] s>—(10) \oyr
BB B H
RN2 GF—p— =558 s>—® Rour
M\c
RN (@—1i 53 EE—{D Lout?
Ln2 @ Lt ;Q\“Js/rw 1 Lour]
& —
LnT @—ten *° © SW?2
HIEA D EIRESR
SW1 SW2 OUT1 ouT2
L L IN2 IN2
L H IN2 IN2
H L IN1 IN2
H H IN1 IN1




MITSUMI 2 ATRHAETFAZM4yF MM1120

i F HEAE
E > No. pr I o 1EE PR 5 4iff 3] 2% (]
1
. Vin ML AT \/CC » *
15k
1k
01O,
SW AL v F
10k 10k

4 GND 79K

Z Riv Vec 4 ?

: RO 7] o

Liv
8
Lk
O]0]0,
10
" Rour VCE
FOr EEValiipA]
12
Lour
13
14 Vourl B g (1) Ve
380
15k 750
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MITSUMI
1 2 2
5 Vout mefg o (2) Vee .
15157
16 Vce EIR
B AXTER (Ta=25C)
" B e 5 | % 1% iz
RERE Tste —40~+125 (¢
BAERE Torr =20~ +75 T
B EERE Vce max. 15 A%
FREEX Pd 500 mW
= OLELEN (4552 4 X 4 Ta=25C Vee=8V~13V.V1=0V.V2=0V.SG-1.5G-2.SG-3. H({E5)
I5H £E | AlESETF BIEEHF RN EEIRK] B
BEERERE Vee Vce 8.00 130 V
S Iccl Vee=9V 16.0 | 21.0 | mA
R Tec2 Vee=12V 170 | 220 | mA
Vint —Voutrl V1=V2=Vcc, SW1:B, Vin2—Vourl, SW1:.A
BEEFE Gvl SG1:1E%E# 1Ve-p, 0.1MHz | — 05 05 [ dB
. TP2 SGl: A A — 755 1.0Ve-» | _
=R es Fcl 10MIs/0.1MILy 1.0 10 | dB
, SGI:FBEBEI% 1Ve-»
118 + )
wMaFIE Dcl s APL = 10, 50, 90% 0 | *3 | %
a SG1:BEBRI: 1Ve-p
M fr+e Drl APL = 10, 50, 90% 0 +3 | deg
ViN2—Vout2 SW1: A, Vin1—Vour2 V1=V2=Vcc, SW1:B
BEEFIE Gv2 SG1:1E%E# 1Ve-», 01MHz | 55 | 60 | 65 | dB
=15 TP1 SG1: 24 — 7155 1.0Vr-»p, | _
=R es Fc2 TMIz/0.1 MIx 10/ 0 | 10 | dB
. SGI: BB 1Ve-»p
1|78 + 0
MaFIE Dc2 7 APL = 10, 50, 90% 0 | *3 | %
o SG1:BEBIE 1Ve-p
[ | Dr2 APL = 10, 50, 90% 0 | £3 | deg
Rin1 —Routl V1=V2=Vcc, SW2:B, Rin2—Rout1 SW2:A
BEEFE Gv3 SG2:1E%E# 25Ve-p, 1kHz | —05] 0 | 05 | dB
LEHEE Tupl TP4 SG2:1E5%# 25Vre-p, 1kHz 001 | 0.1 %
HAESERE Vnl T8 15kHz 3 50 | uVrms
Rin2—Rout2 SW2:A, Rin1 —Rout2 V1=V2=Vcc, SW2.B
BEFE Gv4 SG2:1E%E# 25Ve-p, 1kHz | —05] 0 | 05 | dB
LEHEE Tup2 TP3 SG2:1E5%# 25Vre-p, 1kHz 001 | 0.1 %
HAMSERE VN2 T8 15kHz 3 50 | uVrms
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Lin1 —Loutl V1=V2=Vcc, SW3.B, Lin2—Loutr1 SW3:A

BEFIE Gvb SG3: k¥ 25Ve-p, 1kHZz | —05] 0 05 | dB
2ERAKE Tup3 TP6 SG3:IEEPk 25Vree, 1kHz 001] 01 | %
HAOESERE Vn3 Wi15kHz 3 50 |uVrms
Lin2—Lout2 SW3:A, Lin1—Lout2 V1=V2=Vcc, SW3:B
BEFIE Gvb SG3: k¥ 25Ve-p, 1kHZz | —05] 0 05 | dB
2ERAKE Tup4 TP5 SG3:IEEP, 25Ve-p, 1kHz 001] 01 | %
HAOESEE V4 Wi15kHz 3 50 |uVrms
HAOAT7ty NEE
Voutl Voffl TP2 VI=0VOR & V1=Vech I ODCERE 0 15| mV
Vout2 Voff2 TP1 V2=0VOI & V2=V DDCERE 0 30| mV
Rour1 Voff3 TP4 V1=0VOR: V1 =VecORDDCE % 0 | £15| mV
Rout2 Voff4 TP3 V2=0VOI & V2=VecOR ODCEE 0 15| mV
Lourl Voff5 TP6 V1=0VOR: L V1=VecORODCE £ 0 | 15| mV
Lout2 Voff6 TP5 V2=0VOI & V2=VccOBEODCEGE 0 | 15| mV
ABhA4E—4F2 X
Vin Ril ViNL M. OFVIN2 15 kQ
Rin Ri2 Rinl . O°RiN2 68 kQ
Lin Ri3 Lin1 } OFLin2 68 kQ
HAAME—4>2 X
Voutl Rol 50 Q
Rout Ro2 Routl ¥. C*Rout2 100 Q
Lout RO3 Lourl &2 C*Lout2 100 Q
JO0X =7 %1
SG1:1E5E¥% 1Ve-p, 443MHz
Crl TP7 OV1=Vn, V2=VL, SW1.B -60| —50| dB
Vi Vour @V1=V2=Vi, SWI:A
SG1:1E5Ek 1Ve-p, 443MHz
Cr2 TP2 @OV1=Vi, V2=Vu SW1.B -60| —50| dB
@V1=Vy V2=V, SWI:A
SG2: k553 25Ve-p, 1kHz
Cr3 TP3 OV1=Vn V2=Vi, SW2.B -8 | —-70| dB
R Rour @V1=V2=Vi, SW2:A
SG2: 1F5E3k 25Ve-», 1kHz
Cr4d TP4 @OV1=Vi, V2=Vu SW2.B -80| —-70| dB
@V1=Vn V2=V, SW2:A
SG3:1E5Edk 25Ve-», 1kHz
Crb TP5 OV1=Vn, V2=VL, SW3.B -8 | —70| dB
Lin—Lout @V1=V2=Vy SW3:A
SG3: k5 25Ve-», 1kHz
Cr6 TP6 @OV1=Vi, V2=Vu SW3.B -8 —-70| dB
@V1=Vy V2=V, SW3:A
Vin1—Rout2 Cr7 TP3 S&,E = gﬁ\g Sy —55| —45| dB
21y FADEE
214y FAHEEH Vi ICH&AA v FOHLANL | 21 \
ZA v FADNEBEL Vi ICH% AL v FOLL NV 07 | V

HEIXl ZuAxAb—7
V=21V, VL=0.7V

ANEFZVN, HEFTZVourt THIECTIE TR L kDS S

Cr=20log 2T
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